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QUESTION 1

1.1

Speed (km/h)

Frequency (f)

Cumulative frequency

0<x=<10

10
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10<x <20

20

30

20<x <30

45
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30<x <40
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40 <x <50
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v" column 1 values
v column 2 values
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v" Grounding(0; 0)

v'Maximum (50; 170)

v'Curve
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1.5 | 164 (Accept 163 — 165)

v Answer
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QUESTION 2
2.1 - v v v ALL points plotted
o EEEEEEEEE R A correctly
A -1 for every 2 mistakes
!
700 : -1 if points are joined
o | 3)
= |
dfrias sop |
E i = = / ]
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£ A o )
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9z i
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- t
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100 -
I
'
0 +——11 2.3 -% ) : 1] I il :
o 5 10 15 20 25 30
Dates in June
22 |y=26,88x +161,24 v'value of a= 161,24
v value of b = 26,88
v'equation of the line 3)
2.3 | y=26,88(24) +161,24 v ssubstitute in formula
806 people treated on 24th of June ansyver a8 Natural Number (2)
2.4 | seegrid v straight line
v graph passes through (X ; y)
v/ graph passes through y-
intercept from regression line
formula (3)
2.5 | r=0,98 This is a very strong positive, linear correlation. As the days | ¥'¥" correct answer
. . ) v'interpretation (3)
increase the number of patients increase
Al ()_C —o3x+ 0')
(528,63 —210,46;528,63 + 210,46)
(318,17 ; 739,09) v 318,17
4 patients. v (739,09)
v answer

3)
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QUESTION 3
3.1 —
m,. = Y =)
X, =X
m = 8-0 v’ correct substitution into the
BC T 5 correct formula
v answer
My = -8 2)
3.2 2 2 v substitute A and B into
AB =+(-3-4) +(k -8
\/( ) ( ) distance formula
65=49 +k* —16k + 64 v’ standard form
K~ 16k +48=0 ¥ factors
v k=4
(k—4)(k—12)= 0
k=4or k=12
k=4 )
3.3 —(- v
) "
4-(-2) vom,,
mlﬂ) = 2 v mBD X mAC
m = 4=0 __1
©o_3-5 2
1
m, Xmgn_2x_§=_1 (3)
AC 1L BD
34 midpoint of AC = midpoint of DC v’ x-coordinate
_ _ _ v" y-coordinate
x+(=3) _ 245 y+4_—4+0
2 2 2 2
x=6o0r y=-8
F(6;—8)
3.5 m,, =m,. =—8 vomy,
tana = -8 v tana =—8
a =180° —tan™'(8) va=9713°
a=97,13° :ﬁ =63:43
tanf=m, =2 o—p
v answer
[ =063,43°

0, =63,43°(vertopp )

(6)




EDO=a-f
EDO=97,13°— 6343°=33,7°
3.6 _ (2 AV _ _ v length of AC
AC—\/(S ( 3)) +(0 4) =80 =45 v length of DP
DP = \/(_ 2-1f +(-4-2) = J45 =345 v’ correct substitution into
1 formula
Area of AADC = EAC x DP v’ answer
4)
Area of AADC = %(4\/§X4\/§)
Area of AADC =30 square units
[08]
QUESTION 4
4
4.1 2 2
B=1(x, - -
0 \/(x2 i )2 +02 - )2 v" substitution
OB =/(-4-0) +(-6-0) v OB=4+52
OB == 52 v V= '\/E
0B =213 3)
r=413
4.2 - —
C( 4+0 : 6+ 0]
2 2
C(-2:-3)
(x+2) +(y+3) =13
4.3 | Right-angled triangle, tangent perpendicular to the radius. v’ right angled A
v reason (2)
4.4 —
_Y.m N
Mep = X, — X, v moa
~6-0 v omy,
BO
; 4-0 v’ substitution
Mo = 2 v answer
4)
m =2
KL 3
Y=V ZM[X—XIJ
2
y+6=—"(x+4)




__2.%
R
4.5 E(O;—6) v'v answer (2)
46 [ (x+2) +(0+3) =13 VX
F(-4,0) Y Yr
-3-0 3 v om,.
mg. = =
-2+4 2 v'me,
-3+6 3 v Points F, C and E
mey, = 240 = _E age collinear
Points F, C and E are collinear ©)
EF is a diameter
[20]
QUESTION 5
5.1.1 tz;121158‘:=m2 /W=r
X +y =r v’ answer
P+m’ = ,
Nl+mP =r )
sin 58° = m
1+m®
1+ m? m
l
5.1.2 | s 296° =—smn 64° v' —sin 64°
sin 296° = —sin 2(32°) v substitution
sin 296° = —2sin 32°x c0s 32° v answer
) m 1
sin 296° = -2 x X
1+m® N+ 3)
sin 206° = 2"
1+m

3211 5tan@+2J6 =0




\/ y = ——-
5
246 i 26
> sl =———
\ 649
5
tané?:—& 0°< 08 <270°
5 @)
=y +x
r* =(-2v6) +(5)
r’ =49
r="7
sinf = M
7
522
cost = > v
7 answer
(H
523 | 14cos@+7/6sind
cos(—240°).tan 225°
5 26
14(_5]4-7\%(7} v —sin 30°
~ c0s(90° +30°).tan(180° + 45°) v tan45°
O —10+12
~ —sin 30°.tan 45° 1
2 v _EXI
L
v’ answer (€))
=4

[15]

QUESTION 6




6.1 cos(180°+ x) .tan(360° — x).sin>(90°—x) . , v —cosx
sin(180° —x) 2
v cos" x
v sinx
2
—Cos X).(—tan x).cos . .
2 )~ L) 0 X it v cos’ x+sin’ x
sinx v
dnsSwer
sin.y 2
COS . .CO8" X
= C(}_'S‘r +sin’x
sinx
(6)
= cos’x +sin’ x
= ]
6.2.1 | cos(A—B)—cos(A+B)
v
=cos A cos B+ sin A sin B — [cos A cos B —sin A sin B] v
v
=cos AcosB+sinAsinB-cos Acos B+sinAsinB
=2sin A sin B (3)
6.2.2 | cosl5® —cos 75° = cos(45° - 30°) — cos(45° + 30°) v
v
= 2sin 45°.sin 30° v
v
= 2:><£:~«:l or/of 2:»:-1—)(1
3t N
= ig» or/ of “)

1
V2
OR

cos15° - cos 75°
= cos(45° —30°) — cos(45° + 30°)
= cos 45°c0s30°+sin45°sin 30°- [cos 45°cos 30°—

sind5°s51n30°]
= 25in45° sin 30°
= Zxﬂxl orfof ZxLxl
% Jo3
2 1
=— oo —
2 V2




6.3

=

=e)
=3

1

(cos 8 —6)” +(sin 8 -7 )
86 = cos’® — 12cos 6 + 36 + sin’0 — 14sin 6 + 49
86 = 1+ 36+ 49 — 12cos 0 —14sin 0

0 = —=12cosf -14sin O

14sinf = = 12cos5 0

sin@ _ -12
cos® 14
tan© =—gl-0.86

AN NN

(4)




QUESTION 7
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QUESTION 7

A

45m

43°

7.1
sin43°:£ \/sin43°:£
AC AC
AC = 66m v AC
. 45 . 45
43°=— v sin43°=—
sin e 0
v AD
sin 50° = jf)
AD =58,74m “)
72 | CD’ = AC* + AD> =2 AC.AD cos69° v’ using cosine rule

CD’ =(66)" +(58.74) —2(66)(58.74)cos 69°
CD* =5027,72
CD=70.91m

v’ substitution

v answer

3
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QUESTION 8

8.1.1| ~ N v S&R l

D, =B,=30° (alter angles DC parallel GB) W
812 ~ A o v'S

B = C] =60 (tan-chord theorem) v R )
8.13 | A v S&R 1

C, =90° ( sum of angles in triangle) O
8.1.4 " - v'S

DAB =90°
8.2 | Yes is diameter, converse angle in a semi-circle V'S

v R (2)
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QUESTION 9

9.1
v’ constr
V'S
v'S
vS ¥R
. v conclusion
Construction: Connect DC and BE and draw the altitudes k&
and h
1
Arca AADE _3*ADXK  Ap (6)
Area ABDE %xBka BD
1
Area AADE 7 XAExh Ap
Area ADEC %xEth EC
but/maar: Area ABDE = Area ADEC [DE commeon base and DE || BC/
DE gemeensk basis en DE | | BC]
. Area AADE  Area AADE
" Area ABDE  Area ADEC
AL
BD EC
9.2.1 tangent-chord theorem YR (1)
9.2.2 In AABC and AADB: S
,EL[ = f:kl [common/gemeenskaplik]
fil = f)l [proven/bewys in 10.2.1] V'S
- AABC |||AADB[Z; £ ; /] ¥R
OR
In AABC and AADB:
1-:{! = ;\] [common/gemeenskaplik] 'S
]31 = Dl [proven/bewys in 10.2.1] S
BCA=B, [ZsofA=180°] R
AABC ||| AADB
2.3 Ez = f‘l [verwiss Ze/alternate Zs ; EA | | GF] VS YR
f-'l =D . [ext £ of cyc quad DGFC/buite £ v kdvh DGFC] v S vR
E y = D 2

13



924 In AAEC and AADE: )
ﬁ\j =A [common/gemeenskaplik]
B B ’ v 8
E,=D, [proven/bewys in 10.2.3]
v
- AAEC|||AADE[Z: £; £] "
AE AC /S
TAD  AE
.. AE? = AD x AC
OR
In AAEC and AADE:
‘8‘2 =A 5 [common/gemeenskaplik] Vs
Ez = 152 [proven/bewys in 10.2.3] /S
ACE=G [Z£sof A=180° OR ext £ of cyc quad DGFC/ R
buite £ v kdvh DGFC]
. AAEC ||| AADE
AE_AC
" AD  AE /S
.. AE* = ADx AC
925 AB _AC  [AABC|||AADB] 3
AD AB
AB? = AD x AC S
2 S
= AE? [from 10.2.4]
~AB=AE

[21]
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